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PART A: Grammar and Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the answer on your answer

sheet.

21- A: What ... your friends like?

B: ... very kind and helpful.

1) does — He is 2) are — They are 3) do — There are 4) are — There are
22- Which sentence is grammatically CORRECT?

1) There are not many tourist in this city.

2) What time did they got up in the morning?

3) Mary visited the new museum in Paris tomorrow.

4) There are four people in my family.
23- A: How ... your classroom?

B: It’s very big, and there ... a lot of desks in it.

1) is —are 2) are —is 3) are — are 4)is—1is
24- I hate the way my teacher watches me when I am working. It makes me feel ... .

1) generous 2) patient 3) nervous 4) serious
25- We should wear suitable clothes in public places because our choice of clothes shows our ... .

1) attention 2) explanation 3) problem 4) personality
26- Our teacher told us some ... things about the exam and asked us not to forget them.

1) nice 2) talkative 3) selfish 4) important

PART B: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice
on your answer sheet.

We are a family of four. My father is forty—two years old. He gets up early in the morning.
He is the first person that leaves home. He is a taxi driver. He is very hard-working. He
works hard to make money. My mother is a housewife. She is forty years old. She stays home
and helps us to go to school. She makes the breakfast and asks us to leave home before it gets
late. She is very friendly and helpful to us. My sister is a high school student. She goes to a
school near our house. She is 17 years old. I am 10 years old. My school isn’t that near. I take
a bus. I am at school before 8 o’clock. We are a happy family.

27- Who leaves home very soon?

1) his mother 2) him
3) his sister 4) father
28- Which of the following is TRUE?
1) My father is not a serious person. 2) My mother doesn’t do anything.
3) My school is near our house. 4) My sister walks to school.
29- My mother stays home because she ... .
1) is very lazy 2) is sick
3) works as a housewife 4) my father asks her to do so
30- The underlined word “us” refers to ...... .
1) father and me 2) me and my sister

3) my father and my mother 4) my mother and my sister
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